
www.encloscreens.com

Solara Wood 
Freestanding 

Screen
		  73 1/2"H X 38"W

30 min 
Screen Assembly

Approximate time

Assembly Video
Scan the QR Code below

ASSEMBLY  
INSTRUCTIONS

EC18044

VER. 071725

60 min 
Surface Mounting

Approximate time



2

DETAILED PRODUCT DIMENSIONS & SPECIFICATIONS

GENERAL INFORMATION

To better help you,
please have the

following

Your product number (
page 4

EC18044
 

)

Your original product box

NEED TO RETURN?

* You can also reach us via phone or email.

MISSING OR DAMAGED PARTS?

parts.nychbrands.com

    Visit Our Website
so we can help you right away!

Hours of Operation - Weekdays 9am-5pm EST

If you are having problems with assembly or installation of this product,
please contact at:

NEED ASSEMBLY HELP?

  support@encloscreens.com  704-892-5222 / 877-234-6196 



Tipping may occur if left freestanding in areas with wind exposure

73 1/2 in

25 in

4 5/8 in

35 in

1 1/2 in

38 in

3

DETAILED PRODUCT DIMENSIONS & SPECIFICATIONS



4

BOX CONTENTS

LAY OUT MATERIALS 

 
A

B

x2

x16

Post 
11/2" x 23/8" x 72"

Slat 
5/8" x 4 1/2" x 34 3/8"

E

Slat Bracket Left

C x2

Rail 
1 1/4" x 2" x 36 3/4"

E

F x16

Pin

D E x16

Slat Bracket

G x15

Bracket Bridge

H x2

Feet 
1" x 2" x 25"

I x2

Joiner Bracket

J

1 5/8" Wood Screw

K x4

1 1/4" Bolt

x8 L x4

3 1/8" Bolt

M

Nut

x4 N

Washer

x12 O

Lock Washer

x8 P

Wrench

x2

x16



5

FREESTANDING

Phillips Bit

Power Drill

Freestanding configuration
is only recommended for
environments with low

wind exposure

DECK MOUNT

PATIO MOUNT

1/4" Wood Drill Bit

Matching Driver Bit

1/4" Lag Screws 3" 
Length (4)

Power Drill

1/4"Concrete Drill Bit

Matching Wrench

1/4" Concrete Wedge
Anchor 2 1/4" Length (4)  

Hammer Drill Hammer

TOOLS AND OPTIONAL HARDWARE

HARDWARE NOT 
INCLUDED

HARDWARE NOT 
INCLUDED



16x

6

ASSEMBLING 

1

2

B x1

D x16

B x1

E x16B x16

E

D

Assemble on box or other 
smooth surface.

We recommend 
2 people for 
a smoother 
assembly.



7

3

4

A x1

C

C x1

B, D, E  x16

A x1

x1



8

5

6

C x1

A x1



9

7
J x8

J x8

Concrete 
Drill Bit

Matching 
Wrench

1/4" Concrete Wedge 
Anchor 21/4" Length (4)

Hammer Drill

Hammer 

PATIO MOUNT

1/4"1/4"

FREESTANDING

PAGE 10

SURFACE MOUNTED (RECOMMENDED)

PAGE 11 -15

OR

Freestanding application 
is only recommended 
for indoor usage or 
environments with low 
wind exposure.

1/4" Lag Screws 3" 
Length (4) 

Matching 
Driver Bit

Wood 
Drill Bit

Power Drill

DECK MOUNT

Surface mounting hardware 
not included
Screen does not serve as a substitute for a 
security railing for the prevention of falling



O x4

10

H

P
1

2

H x2 I x2 K x4 N x4

L x4 M x4 N x8 O x4

FREESTANDING

FREESTA
N

D
IN

G
FREESTA

N
D

IN
G

I

P x1

P x2

x2K

N x2

2x

x2

M x2

L

x2O



11

1

M
O

U
N

TED

2

M
O

U
N

TED

SURFACE MOUNTED (DECK)

L x4 M x4 N x8 O x4 P x2



12

10 3

M
O

U
N

TED

4

M
O

U
N

TED

If mounting to deck 
boards only, a support 
block should be added 
underneath

Refer to mounting hardware instructions
to ensure proper installation.

(Surface mounting hardware not included)



13

1

M
O

U
N

TED

2

M
O

U
N

TED

SURFACE MOUNTED  (PATIO)

Ensure there is at least 
3" between the edge 
of  the concrete and the 
surface mount.

L x4 M x4 N x8 O x4 P x2

3" 

3" 



14

10 3

M
O

U
N

TED

4

M
O

U
N

TED

Refer to mounting hardware instructions
to ensure proper installation.

(Surface mounting hardware not included)



15

5

M
O

U
N

TED

6

M
O

U
N

TED

Refer to mounting hardware instructions
to ensure proper installation.

(Surface mounting hardware not included)



Note: Ensure Bracket 
Bridge (G) is oriented 
correctly for full range   

of motion.

x16F

x15G

8 F x16 G x15



www.encloscreens.com

support@encloscreens.com

704-892-5222 
877-234-6196

6935 Reames Rd. Ste. K.  
Charlotte, NC 28216

ASSEMBLY  
INSTRUCTIONS
EC18044

VER. 071725


